Question ID cfO0fcé6ba

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: cfOfc6ba

Which expression is equivalent to 13z2 — 7222

A. —91x2
B. 622
C. 202

D. 4022



Question ID fb46b28e

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: fb46b28e

Which expression is equivalent to 12z + 277

A.12(9z + 1)
B. 27(12z + 1)
C.3(4z + 9)

D. 3(9z + 24)



Question ID 4bed3166

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 4bed3f66

Which expression is equivalent to 34x + 34y?
A. 34xy

B. 34(z + y)
C.68y
D. 68z



Question ID 401c7c6¢

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 401c7c6e

Which expression is equivalent to 9z + 6x + 2y + 3y?
A.3z 4 5y

B. 6z 4 8y
C.12z 4 8y

D. 15z 4 5y



Question ID 695e¢5620

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 6955620

Which expression is equivalent to 20w — (4w + 3w)?

A 10w
B. 13w
C.19w

D. 21w



Question ID dfb59051

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: dfb59051

Which expression is equivalent to (m4q4z_1) (mq5z3), where m, g, and z are positive?

A miq20z3
B. m%q%22
C. mﬁqu_1

D. m20q12z_2



Question ID 5d3181be

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 5d3181be

Which expression is equivalent to 256w? — 6767?
A. (16w — 26) (16w — 26)

B. (8w — 13) (8w + 13)

C. (8w — 13)(8w — 13)

D. (L6w — 26) (16w + 26)



Question ID cl1e3234d

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: c1e3234d

Which expression is equivalent to 23z3 + 222 + 9z?

A.23z(z% + 2z + 9)
B. 9z(23z% + 222 + 1)
C.z(23z% + 2z + 9)

D. 34(z3 + 2% + x)



Question ID 142916b2

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 1429f6b2

Which expression is equivalent to 17(:1:2 — 100y2)?
A 17(z — 2y)(x — 50y)

B.17(z — 2y)(z + 50y)

C.17(z — 10y)(z — 10y)

D. 17(z — 10y)(z + 10y)



Question ID d926a0a9

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: d926a0a9

Which expression is equivalent to 922 + 52?

A z(9z + 5)
B.5z(92 + 1)
C.9z(z + 5)

D. z%(9z + 5)



Question ID a3d03{49

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: a3d03f49

Which expression is equivalent to 2 + 3z — 40?
A (xz —4)(z + 10)

B.(z —5)(xz+8)

C.(z—8)(z+5)

D. (z — 10)(z + 4)



Question ID 41989813

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 4f9898f3

L
Which expression is equivalent to (z) 4, where z > 0?

1
A.ﬁ-a:

B. ¥z
Cl4-zx

D. msup



Question ID 77d30146

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 77d30f46

Which expression is equivalent to 4(:1:2 + 6)?

A 4z + 24
B. 422 + 10
C.4x2+ 6

D.4z2%2 — 2



Question ID bace9af4

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: bace9af4

Which expression is equivalent to 16z3y? + 14zy?
A 2zy(8zy + 7)

B. 2zy(8z2y + 7)
C. 14zy(2z%y + 1)
D. 14zy(8z2%y + 1)



Question ID albb87b1

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: a1bb87b1

Which expression is equivalent to 1123 — 5232

A 1623
B. 623
C. 68

D. 1625



Question ID 72fa8b3e

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 72fa8b3e

Which expression is equivalent to 15w? + 8w?

A w(15w + 8)
B. 8w(15w + 1)
C. 15w?(8w + 1)

D. 23(w? + w)



Question ID 3e4e9da8

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 3ede9da8

Which expression is equivalent to 5z® — 6z* + 832
A. z*(5z — 6)

B. z3(522 — 6z + 8)

C.8z%(5z% — 6z + 1)

D. 62°( — 6z* + 823 + 1)



Question ID 2dfb2204

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 2dfb2204

Which expression is equivalent to 50z2 + 5z2?

A. 25022
B. 102
C.45x2

D. 552



Question ID 97f3dbe0

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 97f3dbe0

Which expression is equivalent to 922 + Tz2 + 927?

A.63z% + 9z
B. 922 + 16z
C. 25x5

D.16z2 + 9z



Question ID 0e803cba

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 0e803cba

Which expression is equivalent to 16(z + 15)?
A. 16z + 31

B. 16z + 240
C.16xz+1

D. 16z + 15



Question ID 33206a54

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 33206a54

Which expression is equivalent to (9:1:3 + 5z + 7) + (6:23 + bz — 5)?
A.152% + 52% — 52 — 35

B. 1523 + 1022 + 2
C.15z% + 5x2 + 5z + 2

D. 1523 + 522 + 5z + 2



Question ID fbcace7b

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: fbcace7b

Which expression is equivalent to (2:1:2 +x — 9) + (.7:2 + 6z + 1)?
A. 222+ Tz + 10

B.222 + 6x — 8
C.3z2 4+ 7z — 10

D.3z2 4+ Tz — 8



Question ID 7cfe6c¢55

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 7cfe6c55

Which expression is equivalent to 8 + d? +3?
A d?+24

B.d%2 + 11
C.d>+5
D.d? — 11



Question ID 9b0caldc

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 9b0caldc

Which expression is equivalent to 522 — 50zy??
A. 5z(z — 10y?)

B. 5z(z — 50y?)

C. 5z%(10zy?)

D. 5z2(50zy?)



Question ID d2cae91a

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: d2cae91a

Which expression is equivalent to 1223 — 5232

A Tz
B.17z3
C.7x3

D. 175



Question ID d1340aa3

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: d1340aa3

Which expression is a factor of 222 + 38z + 10?
A 2

B.5x
C. 38z

D. 22



Question ID 611fd50b

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 611fd50b

Which expression is equivalent to 19 (:132 — 7)?

A. 1922 — 133
B.19z2 — 26
C.19z2 —17

D.19z2 + 12



Question ID 5df44e78

Assessment Test Domain Skill Difficulty
SAT Math Advanced Math Equivalent Easy
expressions

ID: 5df44e78

Which expression is equivalent to (8yz)(y)(72)?
A. 561222

B. 56122
C. 56yz

D. 16yz



